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Q.No Questions Mark
Section A
Choose the correct answer from the options.
1. The place value of 8 in 67,89,432 is, 1
a) 80,000
2. For 500 which symbol is used in Roman system? 1
d) D
Write the following sentences as TRUE or FALSE :
3. In Roman numeral V and L are never subtracted - True 1
4, If C.P is greater than Selling price there is profit- False 1
Match the following:
SECTION - A 4
SECTION -B

5) One more than 4 crore is c. 4,00,00,001

6)The price at which an article is sold is | d. selling price

called

7) S.P=C.P +.......... b. profit

8. 49,999- 12344 = a. 37655

Fill in the blanks:

9 The number name of 9,63,47,856 is- Nine crore sixty- three lakh forty 1

seven thousand eight hundred fifty six.




10

The predecessor of 7,13,25,070 is— 7,13,25,069

PART B
Answer the following questions:

11

Add: 3,43,432+ 54,628+79,263
343432
54628
+ 79263

477323

12

Put commas properly and write the number name of 96347856 in

International system.
96,347,856 - Ninety six million three hundred forty- seven thousand

Eight hundred fifty six.

13

Round the following to the place mentioned against it:
a) 2673 ( nearest 10) b) 12,570 (nearest 100)

= 2670 =12,600

14

Compare the numbers .Put the suitable symbol <or>or = in between

them.
a)50,86,312...>... 50,68,333 b) 1,23,45,607...<..... 1,23,45,706

15 Subtract and check your answer by addition.

674528 - 83246
674528
83246

591282

Abel bought a car for Rs. 2,75,000.He spent Rs 15,000 to repair it. He

16
then sold it for Rs.3,15,000. Is there profit or loss? How much?
C.P of car = Rs. 2,75,000
= Rs 15,000

Amount spent on repairing
Rs. 2,75,000 + Rs 15,000

So, Total C.P
Rs 2,90,000

Rs.3,15,000

S.P of car




Since S.P > C.P ,thereis profit.
Profit = S.P-C.P

= Rs.3,15,000 - Rs 2,90,000 = Rs 25,000

Answer The following :

17 Arrange the following numbers in ascending order
a) 9,43,586; 9,43,576; 6,95,350; 8,43,586
Ans: 6,95,350; 8,43,586 ; 9,43,576; 9,43,586
18
Mr. Noble bought two cars ,one for Rs. 3,02,789 and the other for
Rs. 2,34,567.Then calculate,
a) How much money did he spend in all?

Total money spent for the cars Rs. 3,02,789 + Rs. 2,34,567
Rs 5,37,356

b) By how much was the first car more expensive than the second?
Difference between the price = Rs. 3,02,789 - Rs. 2,34,567
= Rs 68,222
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